
X 

13.8 7RJE 2ATf9 28 

IT81,810, 8100, 81000, 810000, 8125, 81751, 792657, 7456 FTI E 

81 81 =1Ox 10 = 81x 10 

81 810 81 x 10 = 10X 100 = 81 x 100 = 8°1 x 10 

8100= 81x 100 = x 1000 = 8'1x 1000 = 81 x 103 

81 
81000= 81x 1000 = x10000 = 8°1x 10000 =8°1 x 10* 

10 

81 
810000 81 x 10000 =x 100000 8'1x 100000 = 8°1 x 10 

10 

812 1000 = 8125 8'125 x 10 
100 

81751 
81751 x 10000 =8'1751 x 104 

10000 

792657 
792657= x 100000 = 7'92657 x 105 

100000 

DAILY ASSA M 

745'6 7456 
10 

7456 
1000 

x 100) = 7456 x 10 

4786 4786 x 103 

4786= 47 86 x 102 

4786 478 6 x 10 
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f 47.86 x 102R 478.6 x 101;4786 7 219 T RA, 

4786 2Af 4.786 x 10 

(4786= 4786.0) T 31 31SEE Z UR o R*1 4%7T 1AR (ACA) M (4- 1) = 

3 iI COTE AATi T 103 75I (4- 1) = 3 I 

[4786=4'786 x 10'] 

745.6 RRTTCDTE PÍR R IORFI TRE 7RUI 3 | 5I(T 3 1 C11 FA 

RI9R7 2c01 eATI9RE iT 103 753 RBTCA ARII [745*6= 7456 * 10) 

) 45 26 (i) 4326'3 11i) 6,450,000 (iv) 5265300 

(v) S0,100,000,000 (vi) 7467293 (vii) 5 256 

4526 
) 45 26 

100 

4526 
x 10 4'526 x 10 

1000 

[ 1,45 26 7*3TD F 3$TIA F| U 7RUI 2, 5 7*ITD 2i 
1T 107 5 ARII 2 -1 = 1] 

i) 4326'3=4'3263 x 10 

[F 31$F | 73Ji 4 5i 10 54-1 =3] 

6450000 
(ii) 6,450,00010 x 10 

= 645 x 10 
[6450000 = 6450000'0iR F1 * 1PA 7D| RCRI SIUTR 10475 6] 

(iv) 5265300 5 2653 x 10 

(v) 80,100,000,000 8'01 x 1010 

7467 293 =7467293x 103 (vi) 
(vii) 5 256 = 5 256 x 10 

) 71270000 695690000 
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71270000 = 7127 x 10 

695690000=6 9569 x 10s 

107 RT R TA AI A 71270000TT 95690000 S 7RT 

1,989,100,000,000,000,000,000,000,000,000 
f aTT UIE 7R351 I 1 7 

zja41-R G? 

z4 R Z 330,220,000,000,000,000,000,000 a1 

T 3e tY TY = 57,910,000 f 

F = 4867000,000,000,000,000,000,000 a 

= 
1,989,100,000,000,000,000,000,000,000,000 fa a 

= 19891 x 1026 a1 

T98x 1026 x 10000 f a 
10000 

= 1 9891 x 1026 x 101 a1 

= 19891 x 1030fs a1 

HER = 330,220,000,000,000,000,000,000 a 

33022 x 101° e 

302 10 x 10000 *a 
10000* 

= 3 3022 x 1023f aT 

$PR = 4867000,000,000,000,000,000,000 
fa 

= 4867 x 1021 at 
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4867 
1000 

x 102 x 10'f a 
-

4'867 x 1024 f at 

TR 1 341R SIY TAY = 57,910,000 f f 
= 57910000 

= 5791 x 10 

S791 104x 10 T 1000 

= 5 791 x 104x 10 
= 5'791 x 107 

T 1RAR =149600000 f 
T Pa Y= 108200000 R 
5TRI, TT RI q11 TY = 149600000 f fA 

= 1496 x 105 

1496 
100 x10x 10'R 

= 14 96x 10' 
TR raa TY= 108200000 f 

= 1082 x 10* 
1082 

x 10x 10 f 100 
= 10'82 x 10" 

ATR 14 96 7RJTCDI 10 82U IG 
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1496 x 107>10'82 x 10' [%3T61 IKRUA J U104 RT 7R 

2011 RE ARN VPiA URUR RII tiei 1,220,000,000 1f9 7*E 2r 

T 122 x 10° 

prt-13.3 

() 5,273,294 (i) 7,10,021 (ii) 6,400,000 (iv)18,129 

(v) 23961,32 (vi) 75,000,000,000 (vii) 70,010,000,000 

(vii) 450269 (ix) 3206'19 (x)475000000000 

() br T 1737 1 

(ii) jRda UPAI 6771000 BR 

(ii) VFOR A TY 50,290,000 

(iv) 3 E r ATTFY 720,420,000 

(v)1 TCIT=9,460,700,000,000 

(vi) 1 csfT 4 (AU)=149,600,000 

(vii) br 73490,000,000,000,000,000,000at 

(vii) zgia TMT 695510 

(ix) fRaTe 1,386,000,000 ADR 1 AT 

(x) TT CRR BT 299,792,458 DR/CRRe (RT 300,000,000 AD/RPE) 

3. yT I (RRDI RRI UIGT) 

) 57610000000000000; 576000000000000000 

ii) 343 6x101; 03436x1017 
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2. 5 1 TIRI8 1024 210 
729 36 

625= 54 

100,000 =10 

TE RRJI m, n IA 
1) a" x a"= a"* 

(iii) (a")"= a'n 
ii) a"a" = a" 

iv) a" x b"= (ab)" 

(iv) a" b"= (v)a=1 

(vi) (-1)*P=1 (vii) (-1)*7 =-1 

(vii) ar (mAeT) a 

(ix) a" = mAR 

1729=1+12=9+10 
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